



नाम: _____

दिनांक: _____ स्कोर: _____

$$\left(\frac{1}{6} - \frac{1}{2}\right)^2 + \frac{3}{5}\left(\frac{3}{2} + \left(\frac{3}{4}\right)^2\right) =$$

$$\left(\left(\frac{2}{5}\right)^2 + \frac{2}{5}\right) \times \frac{1}{2} - \left(\frac{1}{2} - \frac{3}{5}\right)^2 =$$

$$\left(5 + \frac{2}{3}\right)^2 + \frac{1}{2} - \frac{1}{3} + 3^2 =$$

$$\left(2 - \frac{1}{2}\right)^2 + \frac{1}{6} - 4^2 \times \frac{1}{3} =$$

$$\left(\left(\frac{3}{5}\right)^2 + \frac{3}{4}\right) \times \frac{3}{4} - \left(\frac{3}{4} + \frac{3}{4}\right)^2 =$$

$$\left(\frac{1}{2} - \left(\frac{1}{2}\right)^2\right) \times \frac{1}{2} - \left(\frac{2}{5} - \frac{3}{4}\right)^2 =$$

$$\left(\frac{1}{4} + \left(\frac{3}{5}\right)^2\right) \times \frac{1}{2} - \left(\frac{1}{2} - \frac{1}{3}\right)^2 =$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{3}{2}\right) \times \frac{1}{5} - \left(\frac{1}{6} + \frac{1}{5}\right)^2 =$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{1}{2}\right) \times \frac{1}{2} - \left(\frac{1}{2} - \frac{1}{5}\right)^2 =$$

$$\left(\frac{1}{2} + \left(\frac{3}{5}\right)^2\right) \times \frac{3}{2} + \left(\frac{1}{3} + \frac{1}{5}\right)^2 =$$



नाम: _____

दिनांक: _____ स्कोर: _____

$$\left(\frac{1}{6} - \frac{1}{2}\right)^2 + \frac{3}{5}\left(\frac{3}{2} + \left(\frac{3}{4}\right)^2\right) = \frac{971}{720} = 1\frac{251}{720}$$

$$\left(\left(\frac{2}{5}\right)^2 + \frac{2}{5}\right) \times \frac{1}{2} - \left(\frac{1}{2} - \frac{3}{5}\right)^2 = \frac{27}{100}$$

$$\left(5 + \frac{2}{3}\right)^2 + \frac{1}{2} - \frac{1}{3} + 3^2 = \frac{743}{18} = 41\frac{5}{18}$$

$$\left(2 - \frac{1}{2}\right)^2 + \frac{1}{6} - 4^2 \times \frac{1}{3} = \left(-\frac{35}{12}\right) = \left(-2\frac{11}{12}\right)$$

$$\left(\left(\frac{3}{5}\right)^2 + \frac{3}{4}\right) \times \frac{3}{4} - \left(\frac{3}{4} + \frac{3}{4}\right)^2 = \left(-\frac{567}{400}\right) = \left(-1\frac{167}{400}\right)$$

$$\left(\frac{1}{2} - \left(\frac{1}{2}\right)^2\right) \times \frac{1}{2} - \left(\frac{2}{5} - \frac{3}{4}\right)^2 = \frac{1}{400}$$

$$\left(\frac{1}{4} + \left(\frac{3}{5}\right)^2\right) \times \frac{1}{2} - \left(\frac{1}{2} - \frac{1}{3}\right)^2 = \frac{499}{1800}$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{3}{2}\right) \times \frac{1}{5} - \left(\frac{1}{6} + \frac{1}{5}\right)^2 = \frac{97}{450}$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{1}{2}\right) \times \frac{1}{2} - \left(\frac{1}{2} - \frac{1}{5}\right)^2 = \frac{57}{200}$$

$$\left(\frac{1}{2} + \left(\frac{3}{5}\right)^2\right) \times \frac{3}{2} + \left(\frac{1}{3} + \frac{1}{5}\right)^2 = \frac{1417}{900} = 1\frac{517}{900}$$